. 25E »
HHLE A4 A E
"M KZE 20142015 = F—FHIE X &
PR OFE: SEEEUEIIL (64 228D %2 iR e BEEHEIR
s AL s B4
BR] T - =BT a T~ el AT AT T &5 HEA
4 %l 15 15 14 11 12 18 8 7 100

— A (A 3 0y, AR 15 70D

2. gy =2x"+ 1754 (1, 3) Kbkl i fe 2

f(x,—h)—f(x,) _
- =

3. F/04) f7¢E, W lim
4. gy = x> —3x7 945 A Ak bR

5. x> O0r, 1—cosx5ax’ NEMLT /N, Ma=

TS (RN 3 4y, AR 15 4)

. Y .
1. @iﬁzy:lnsmeIZIEﬂ[%,%]h REREHKE= ()
W) 0: 3 Z. « Z. o %
6 2 6

2. BRE T (X) 7R3 S R AR & IR T Z 0 R 1) ( ) .

(A T %At (B) B4 (C) FRELAtS (D) TeKZKAF.

3. NHIBIEIERR 2 ( ) .

(A PINTEFH KPR TES K (B) FRTET5 /N

(C) BFH/NETFH KIS /I (D) LT /NETET /N RTCT /.

4. _[0 e dx= ( ) .
(A 1; (B) -1; (C) 40 ; (D) —o0.

B 40 (EEHEIL 64 %K AE



5. iﬁf(x):m%)-xz, E )= (O W F(X) 75X = 0 bk,

(A) e; (B l; (C) 0; (D) 1.

e

=\ RE TSRS CRRNE T 5y, AR 14 50
1. #y=arctanx, 3K Yy"(0).

2. R xy+Iny=17E5 M1, 1) bHITILTTFE.

M. CA@H5> 11 93

2
DL % X"+ X " p \ N ‘ o
&@ﬁf(X):w—zl): WA R T S X =0, X==x21928%8Y, ERTEEH

F 2o 4T (EEHEEIL 64 %0 A S



T WHENIRIR (BENE 6 73, AR 12 7))

. (3+xj2x
1. lim|——| .
x>0\ 2+ X

T
— —arctan X
2. lim

X—>+00

X

e R ARG, CREMEL6 5y, A KIS 18 40

1
1. | ————dx
jx2—8x+25

2. Iexsinxdx.

F I 4T (EEHEEIL 64 %A S



3 _[4 X+2

0 2x+1

B G 7> 8 70D
WHML Y =X +1My=4—x>, DUIKELX=1HX=—157 K XK.

I\ A 73 750

ﬁﬁ%:%x>0ﬁ,ma+m>x—%ﬁ.

F 4o 4T EEHEEIL 64 %0 A S



